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60 Second Partnership Agreement

Approach, Standard American, 2-over-1, Precision

Jacoby Transfers

Jacoby 2NT

Negative Doubles — through what

What is 1H - 3H, invitational, weak, Bergen Raises

Blackwood, 1430, 3014, Gerber, Gerber 1430

2C ---- 2D? waiting, 2H = Bust, Steps, Controls

Weak 2’s — disciplined, different between VUL and NV, responses: 2NT Feature or
Ogust, RONF

Defense over NT, Cappeletti, DON’T, std

How do you handle interference over partners’ INT? Systems on? Lebenshol?
Michael’s Cue Bid

Support Doubles

Do you lead A from AK or K?

Signals and Discards, Std, Upside down, Odd/Even,

Splinter

Cue bid of overcall — limit raise and support



